HENEREREHES

DH6E6H6H (K)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 238 N7~ 853.9 289 26
<t/ 1,473.0 40 30
B X 4,701.6 600 300
HSXH LA 32.2 240 20
RAAIH LA 59.7 740 100
JUH LA 445.9 759 20
LEHLA 1,795.5 296 20
YFHEFELAS LA 552.8 693 111
=FHLA 318.8 340 20
<AOLA 182.2 645 246
XA LA 105.6 660 89
HNSAHLA 62.2 30 20
L0 210.4 89 20
JA5S 193.0 60 20
VAXTY 4,660.6 1,818 511
<7rd 56.6 1,139 560
N 410.1 719 89
FHA 146.1 259 20
TIAITAF A 290.6 109 20
F+77>39 2,778.4 76 20
HFHS 884.1 56 30
TISHATH 33.1 51 20

e

20,246.4




6:550) (81 @ kg )
pHE i RiEY o2 = B Z B " =
SE 238 22 152.1 1,019 359
S 34.3 319 50
ALY 51.9 7,777 130
HAEEA 53.7 44 20
JESHAN 93.9 68 21
HF A 31.8 119 20
R 182.5 1,000 20
T hSA 741.3 350 21
XA 78.6 193 20
IXFHT 91.7 869 20
IYRSERF 41.9 339 60
254 hRF/ A 55.7 649 309
ZILAA T3 1,303.3 798 219
TUA 7] 3,657.8 1,600 300
U 1% 105.0 8,027 3,939 |52 0"
<53 63.4 789 200
TFES ] 4,969.5 763 100
HFF 118.6 800 300

T2

32,073.4




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &

BERXFEE 111€|777> 389.5 709 69
<t/ 276.8 660 35
JU 602.8 344 40
B X 1,323.8 869 30
>O0F 103.2 369 119
e 150.7 1,111 30
FAHA 187.1 345 20
F+77>39 411.0 73 39
HFHS 60.8 70 20
>0OX/)VUl 123.2 1,520 1,050
AP 65.8 2,727 1,300
AXF 43.4 888 51
2= Av i 2o 42.7 492 410
SFIA 683.2 3,896 1,069
TRORD 193.9 734 20
< hOSA 183.2 400 50
ESWYXHZ 136.1 470 50
Y= 250.3 4,719 339

mUiE 28 JU 28.6 100

BHE 128 Ry FHA 3,193.3 800 193

D 18 JU 49 .4 300 40

Nt 8,498.8




(B : kg)

§:53°2))
BT EEE] fatEd = = 1B Z 1B fm =
2o 18% SO*)UL 90.0 1,000 700
REE ME |[THU 770.0 600
anE 9,358.8




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
HE 23% ESX 546.2 700 500
<7+ 211.0 1,600 1,300
<43 114.2 800 200
EEXFE 1118 £S5 3,996.0 900 300
<A A 100.9 1,500 400
MU 2% <A 25.3 1,500 200
80 18% ESX 111.5 1,000 400
e 3% <7+ 53.5 1,800 1,300

D
[ =]

1§ 5,158.6




